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Solving Sequence

26>3>7>4—>1—>8—>9->12>10~> 11 > 5> C4,C10
A knot diagranﬂ C2 C C3 €1 Cr Cg Ci2 Cg Ci1 Cs ’

Ideals for irreducible componentfbf Xpar

I = (w4 u® 4 fu—1)

* 1 irreducible components of dim¢ = 0, with total 90 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u®4+u+.--+u—1)

(i) Arc colorings

= (3)

0
a6 = u
1
as = _u2
u
a? == u
wrtut+1
a4 = U4
w?+1
al = 77,[/4
—u" —2ub — 2u3
ag = \u® +u” +u® +u
—ul7 — 4yt — 913 — 1201 — 11u° — 8u” — 6u® — 4ud —u
ag = —ul” — 3ut® — 5yt — 4ttt — oy u
ul? 4+ 3ul® + 5ud + 4ub + 2ut +u? + 1
a1z = \ —y — 212 — 3910 — 248 — 208 — 20t — /2
u®® +10u*! + - — 5ud — 2u
alO: _u45_9u43+.'_~_u3+u
w1 4 3u? 1
air = \ —u"0 — 16u™ + .- — 3ut — 202

—u30 — Ty 4 — Ayt + 1
a5 = —u30—6u28+--~+2u4+u2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® — 4u88 + ... + 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u? + 410+ = 3u+ 1

C2,Cp u? — w4 —u—1
3 w4 1l — 1

C4,C8 u? —u® 4~ 3u—1

Cs5,C10 w4 —3u—1

c7,C12 u?® —5u® + - 4 1450 — 21

C9, C11 w4+ 31+ 4 3u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Yy + 17y + - —5ly + 1

ca,Cg Y+ 41y o =3y + 1
Cs Y0 =7y + o+ 125y + 1

C4,C8 y?0 =51y ... — 83y + 1

Cs5, €10 y?0 —31y* + .. =3y +1

7, C1a v + 613 + - + 51089y + 441

€9, C11 Y0+ 57y - =3y +1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/=1C8S) Cusp shape
u = —0.501963 + 0.8989971 1.67262 — 2.045731 0
u = —0.501963 — 0.8989971 1.67262 + 2.045731 0
uw= 0.016868 + 1.0308001 3.00085 — 2.773161 0
u= 0.016868 — 1.0308001 3.00085 + 2.773161 0
u= 0.249218 + 1.0083901 —2.02407 — 1.062191 0
u=0.249218 — 1.0083901 —2.02407 4+ 1.062191 0
uw = —0.355572 4 0.8889391 —0.53261 — 1.534311 0
u = —0.355572 — 0.8889391 —0.53261 + 1.534311 0
u = 0.525356 4 0.9258691 0.94370 + 7.338421 0
u=0.525356 — 0.9258691 0.94370 — 7.338421 0
u= 0.177394 + 1.0504901 —1.87659 — 1.332491 0
u= 0.177394 — 1.0504901 —1.87659 + 1.332491 0
u=0.723590 + 0.5545401 3.94277 + 8.630481 —4.05227 — 7.294731
U 0.723590 — 0.5545401 3.94277 — 8.630481 —4.05227 4 7.294731
w=0.407249 4+ 1.0127201 —3.09800 + 3.083341 0
u=0.407249 — 1.0127201 —3.09800 — 3.083341 0
u = —0.723374 4 0.5448901 5.04502 — 3.024241 —2.05045 + 2.447391
u = —0.723374 — 0.5448901 5.04502 + 3.024241 —2.05045 — 2.447391
u = —0.206935 + 1.0785901 —3.26676 — 3.367811 0
u = —0.206935 — 1.0785901 —3.26676 + 3.367811 0
u= 0.141824 + 1.0946601 —0.62220 — 3.559461 0
u= 0.141824 — 1.0946601 —0.62220 + 3.559461 0
u = —0.754490 + 0.4815791 8.22286 — 1.436341 0.4 2.561891
uw = —0.754490 — 0.4815791 8.22286 + 1.436341 0. —2.561891
w=0.758461 4 0.4719531 8.16996 — 4.247991 0.+ 3.4024171
u = 0.758461 — 0.4719531 8.16996 + 4.247991 0. — 3.402411
u = —0.170343 + 1.0939007 —6.56383 4 2.910911 0
u = —0.170343 — 1.0939007 —6.56383 — 2.910911 0
u = —0.145257 + 1.1048107 —1.82142 4+ 9.119691 0
u = —0.145257 — 1.1048101 —1.82142 — 9.119691 0




Solutions to I}

V=1(vol + v=1C)

Cusp shape

0.692194 + 0.5513251

—0.96504 + 2.691411

—9.30626 — 3.765571

0.692194 — 0.5513251

—0.96504 — 2.691411

—9.30626 + 3.765571

—0.779428 4 0.4082331

3.15401 4 11.357901

—5.13106 — 7.307841

—0.779428 — 0.4082331

3.15401 — 11.357901

—5.13106 + 7.307841

0.775037 + 0.4132721

4.33585 — 5.732211

—3.09381 + 2.627691

0.775037 — 0.4132721

4.33585 + 5.732211

—3.09381 — 2.627691

—0.699433 4 0.5071731

3.25860 — 0.933231

—1.98235 + 2.973281

—0.699433 — 0.5071731

3.25860 + 0.933231

—1.98235 — 2.973281

—0.762752 + 0.3983591

—1.77122 + 5.172631

—10.25794 — 3.789711

—0.762752 — 0.3983591

—1.77122 — 5.172631

—10.25794 + 3.789711

0.744383 + 0.4174491

2.78033 — 3.354461

—3.31785 + 3.493881

0.744383 — 0.4174491

2.78033 + 3.354461

—3.31785 — 3.493881

= 0.405058 + 1.0937301 —3.77807 4 2.568081 0
= 0.405058 — 1.0937301 —3.77807 — 2.568081 0
= 0.582288 + 1.0130101 —2.33340 + 2.227131 0
= 0.582288 — 1.0130107 —2.33340 — 2.227131 0

—0.727699 4 0.3891781

1.22174 — 1.100181

—7.10486 + 1.962841

—0.727699 — 0.3891781

1.22174 +1.100181

—7.10486 — 1.962841

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

= —0.400532 + 1.1070501 —5.12142 4 2.610211 0
= —0.400532 — 1.1070501 —5.12142 — 2.610211 0
= 0.608187 + 1.0179001 2.56703 — 3.540651 0
= 0.608187 — 1.0179001 2.56703 + 3.540651 0
= 0.441817 + 1.1013001 —3.52532 + 4.807731 0
= 0.441817 —1.1013001 —3.52532 — 4.807731 0
= —0.422685 + 1.1103001 —9.04985 — 3.772471 0
= —0.422685 — 1.1103001 —9.04985 + 3.772471 0
= —0.605703 + 1.0246701 3.62058 — 2.056731 0
= —0.605703 — 1.0246701 3.62058 + 2.056731 0
= —0.442733 + 1.1113601 —4.83695 — 10.142601 0
= —0.442733 — 1.1113601 —4.83695 + 10.142601 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.584864 + 1.0448001 1.66537 — 4.014361 0
u = —0.584864 — 1.0448001 1.66537 + 4.014361 0
u = 0.560377 4+ 1.0669007 0.01118 4+ 7.697231 0
u = 0.560377 — 1.0669007 0.01118 — 7.697231 0

u = —0.473389 + 0.6341121

2.39074 — 2.069521

—2.67251 + 3.859241

u = —0.473389 — 0.6341121

2.39074 4 2.069521

—2.67251 — 3.859241

u = 0.556806 4 0.5520551

1.92931 — 2.998127

—4.64252 4 2.700741

u = 0.556806 — 0.5520551

1.92931 + 2.998121

—4.64252 — 2.700741

u = —0.607693 + 1.0681901 6.48101 — 3.731611 0
u = —0.607693 — 1.0681901 6.48101 4 3.731611 0
u = 0.607083 4 1.0738901 6.38293 + 9.423511 0
u= 0.607083 — 1.0738901 6.38293 — 9.423511 0

u= 0.625319 + 0.4323751

1.84509 — 2.982801

—5.82371 + 4.105561

u= 0.625319 —0.4323751

1.84509 + 2.982801

—5.82371 — 4.105561

u = —0.576053 + 1.0985001 —0.85267 — 3.877351 0
u = —0.576053 — 1.0985001 —0.85267 + 3.877351 0
u = 0.587200 4 1.0939901 0.78468 + 8.418731 0
u = 0.587200 — 1.0939901 0.78468 — 8.418731 0
u = —0.588705 4 1.1050701 —3.85739 — 10.283801 0
u = —0.588705 — 1.1050701 —3.85739 + 10.283801 0
u= 0.597219 + 1.1035101 2.29023 4 10.908401 0
u = 0.597219 — 1.1035101 2.29023 — 10.908401 0
u = —0.597318 + 1.1066401 1.0834 — 16.54461 0
u = —0.597318 — 1.1066401 1.0834 + 16.54461 0

u = —0.625268 4 0.0580007

—1.95110 + 6.198471

—9.59402 — 5.637291

u = —0.625268 — 0.0580007

—1.95110 — 6.198471

—9.59402 + 5.637291

u = —0.621508

—6.02816

—14.3370

u = 0.592899 + 0.0615631

—0.725428 — 0.9394111

—7.71421 + 0.785651

u = 0.592899 — 0.0615631

—0.725428 4- 0.9394111

—7.71421 — 0.785651

u= 0.374226

—0.816002

—12.1280




II. u-Polynomials

Crossings u-Polynomials at each crossing

€1 u® + 410 + - = 3u+ 1

C2, Co w0 B -1
€3 u + 0 4 1l 1

€4, C3 w0 -+ —3u—1

Cs5,C10 w4+ u o —3u—1

C7,C12 w0 — 58 + -+ 145u — 21

Cg,C11 u +31u + -+ 3u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 Y0+ 17y o = Bly + 1

€2, Co Y20 +41y% . =3y +1
€3 Y20 — 7y 125y + 1

C4,Cs y%0 =518 + ... — 83y +1

€5, C10 y? =31y 4 =3y +1

7, €12 y%0 + 6195 + .- + 51089y + 441

C9,C11 Yy 457y =3y 41




